Efficiency vs Dxy(PV)

st
o
=
x
kel
[
>
>
Q
c
3
Q
=
()
2
I
@
0 E=30-15-10 5 0 5 10 15 20 25

TP dxy(PV) (cm)

—=— DQM_TT_original
—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
I Efficienc] —— DQM_TT__mod_modelsdeep_something3

1.2r

efficiency vs dxy(PV)

Ratio

l " |J
wu
II\ LI}

1L—o.8—0ro40 02040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

s 12p — T

g [ : : :

¥ I : : :

» i .'.""'. """ :""' """"

> B . . .

> I : : :

Q r . . .

& 0.8F- . [EEEREEE et

s I : : :

€ T : :

@ o . .
06-_. . J. ...... : ...... [
0.4F- LS | EESTEEEESEREE SEERE
0.2f--- e FRRE || RTCERRE PEPREI SPRED

I i | :{ | i

o +® : y :

T

v

| SRR FER (R R R

0¥ 20 -i0 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5

0.

=
o
0.4
=l
2 0.
g
0.3
2
o
go.
@

Ratio

!

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


